
	
 

 
 

 
 

	
 

 
 

 
 

	
 

 
 

 
 

	
 

 
 

 
 

	
 

 
 

 
 

	
 

 
 

 
 

  

Unless otherwise stated, whenever a numerical value of g is required, take g = 9.8 m s−2 and give your 
answer to either 2 significant figures or 3 significant figures.

Answer ALL questions.  Write your answers in the spaces provided.

6.	 At time t seconds, where t  0, a particle P moves in the x-y plane in such a way that its 
velocity v m s−1 is given by

v = t− 1
2 i − 4tj

	 When t = 1, P is at the point A and when t = 4, P is at the point B.

	 Find the exact distance AB.
(6)


